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Ql.g foud Bsar 148+ g1 afg 3maa $ir diss 22 @t &, ar T de1s fhder &7
(a) 24 Q#Y

(b) 28 THT

(c) 26 THT

(d) feiRa 7&r fhar a1 Fhar

(e) 5181 & HIS Agr
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Q2.3 ar 3iHT TEAT & 3 A 39T FH gfacuia Far srar § a [T g,
grEdias T&aT A 45 310 &1 Ife 31T & dg &1 37X 58 O adfas T&aT fhaer
87

(a) 16

(b) 27

(c) 38

(d) 49

(&) 3WIFd H A FIS ¢
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Q3.P,Q3R R o HGHN Y& Fel & [T shaAem: 45,000 9, 70,000 T4 3R 90,000
U T [Far FaT] @ a¥ & 3id #, 35l 1,64,000 TG &1 o137 A’forad fmam @mer

H QHT AT fohdar grm?
(a) Rs. 56,000
(b) Rs. 35,000
(c) Rs. 72,000
(d) Rs. 64,000

()7 & FI5 et
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Q4. afe sarer 3ar¥e w0 & FIifrad &, ar ar ast J 20% Fr 9fd arf¥e g & 10,000

AT FT AR W fhdaAT Tshgefd saqTT JIed gam?
(a) Rs. 4,400

(b) Rs. 4,600

(c) Rs. 4,641

(d) Rs. 4,680

(e) Rs. 6,441
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Q5. 9T Hfge3it 3R 4 gt # & i Heedt 1 Tk AT 50 e § q1g Sl g
P 9 7 T &7 T 68T Uah Afgoll 81l 39 fohdel 3Tel9r-31el9T el & fohar o

hdT &7

(a) 80

(b) 84

(c)76

(d) 96

(e)72
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Directions (6-10): FeAfaf@d =T & Telaxor HifaT]

Q6. (35 = ¥125+(25)° + 125 =2
(a) 200

(b) 250

(c) 150

(d) 100

(e) 140
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Q7. (7)? x (12)* + (48)* =81
(a) 36

(b) 32

(©9

(d) 15

(e) 48
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Q8.64% of ? + 14 =176
(a) 3800

(b) 3950

(c) 3850

(d) 3900

(e) 3200
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Q9. 45% of 224 x ? % of 120 = 8104.32
(a) 67

(b) 62

(c) 59

(d)71

(e) 57
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Q10.16% of 450 x ? % of 880 = 3168
(a) 6

(b) 2

()5

(d)8

(e) 10
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Directions (11-15): Two equations I and II are given below in each question. You have to
solve these equations and give answer

gl 9T H ar gHEeor 13 11w arw &1 e & gof Y 3R 3a¢ QfST-

Lx2 = 49
i1, WP —4y-21-0

(a) AR x <y
(D) x>y
(Qafx<y



(d)IEx2y

(e)IfEx=yarT A Toy TART g7 hAT ST TohT &
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L3x*—13x—-10=0

(@3Tfex<y
)T x>y
(@ 3fgx<y
(I x2y

(e) I x =y AT A Fayr TUT g1 ohAT ST FohedT &
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I.x2—5x+6 =0
Q13. L y2+7y+10=0
(@I x<y
(b) Il x>y
(afgx<y
(d)afgx=2y

(e)IfEx=yarT A Tey TAT g7 hAT ST Tohl &
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Lx*-6x=7
Q14,11 2y° + 13y +15=0
(@I x<y
) x>y
(afEx<y
(@IEx2y

(e) TG x =y AT IS T TATAT IgT [hdT ST Thell &
L1Difficulty 2
QTags Quadratic Inequalities
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Lx2+4x+4=0
Q15 177 —8y +16=0

(@) IR x<y
() FR x>y
(©afRxsy
(dIEx2y
(e) T x =y IT IS TIY TATAA =1gi TohdT ST Thel &
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Solutions

S1. Ans.(b)
Sol.

Length x 22 = 2 x 14 x 14

14 % 14
=28 cm

-

Or, Length = % *

S2. Ans.(e)
Sol.

Let the original number be 10x 4 v
Then, 10x + y — (10x + y) = 45
Or,y—x=5

So, there are four numbers which
satisfies this equation

These number are 16, 27, 38, 49
So, option (E) is our correct answer

S3. Ans.(a)
Sol. Profit is distributed in the ratio 45:70:90=9:14:18

~ Required share = E * 164000 = 56000

S4. Ans.(c)
Sol.

CI=10000 [(1 + %:]4 - 1}

= 10000 x D.4641
= Rs.4641



S5. Ans.(a)

Sol.

No. of ways = °C; x *C, + °C, x *C, + °C3
=5L5xe+10x44+10

= 80

S6. Ans.(b)
Sol.
b 1225 625

5 * 125
=250

S7. Ans.(a)
Sol.

(7)* x (12)* + 487 =81
= (7)* = 1296

=7=136
S8. Ans.(c)
Sol.
64
— X 7=176x 14
100
=7= 3,850
S9. Ans.(a)
Sol.

>

45 !
— X 224 X — X 120 = B104.32
100 100

=7=67
S10. Ans.(c)
Sol.

?

16 :
—— ¥ 450 ¥ —— ¥ 880 = 3168
100 100

=7=5

S11. Ans.(e)
Sol.



L.x* =49

x =17

Lyl —4y—21=0

v —T7y+3y—21=0
yiy—=7)+3(y—-7)=0
(y—7y+3)=0
y=7or—3

Mo relation

S12. Ans.(e)
Sol.
I.3x* —13x—10=0
3x2—15x+2x—10=10
3x(x—5)+2(x—5)=0
(x—5)3x+2)=0

-2
x=5%o0or—

3
L3y +10y—8=0
3y +12y—2y—8=10
3viv+4)—2(v+4)=0
(y+4)(By—-2)=0

2o
Y 3

No relation

S13. Ans.(b)

Sol.

Lx*-5x+6=0
=x=32
ILy*+7y+10=0
=(y+2)(y+5)=0

=y=-2,-5
X>y
S14. Ans.(b)

Sol.



x*-6x-7=0
=22 - Tx+x—-7=0
=2x(x-7)+1(x-7)=0

= (x+1)(x-7)=0
=x=-1lor7

IL2y* +13y+15=0

= 2y°+ 3y + 10y +15=0
=y (2y+3)+5(2y+3)=0
=(v+5)(2v+3)=0
::-y:—Sar—%

LX>Y

S15. Ans.(a)

Sol.

Lx*+4x+4=0
(x+2)P=0=2x=-2
Lyl —8y+16=0
=>(yv—4) =0=2y=4
SV EX



